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TRE FERES

1L XD 23R % 1 0 TRL S .
@)
0111y =0x 22+ 1x 22 +1x2'+1x20=04+44+24+1=7

(b)
011001100y = 0x27+1x204+1x2° +0x 2" +0x 23
+1x224+1x2"+0x2°
= 0+644+32+0+0+4+2+0
= 102
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2. XD 1 0tz Y + D 2ERTEL AR,

(a)
13+2=6 &bh1
6+-2=3 &0

3:2=1 401
1+2=0 £bH1

XoT, 13%28E v Fo 2R THEY £ 00001101
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(b)

33+2=16 &H1
16+2=8 &HO
8+2=4 &DHO
4+2=2 &HO
2+2=1 &Ho
1+2=0 RO1

X oT, 33%8E v b 2R THKT L 00100001
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3. RD2iEHE 1 6 R TRLEI V.

(@)
01100011 = 0110 0011 = 63

(b)

1110010011111001 = 1110 0100 1111 1001 = E4F9
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4. XD 1 6 R E 2R TRL LS,

(@)
4C = 0100 1100

(b)
ABCD = 1010 1011 1100 1101
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5 KRD1 0% 1 6 TRLAEZ WV,

(a)

60+-16=3 &H12
3+-16=0 #&RH3

oT, 60% 16X THET & 3C
(b)

5500 + 16 = 343 A& 12
343 + 16 = 21 K7

21 +16=1 &D5
1+16=0 &H1

k5T, 5500% 16 EHTET & 157C
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6. XKD 1 6ER%E 1 0O TRLAEZ VL,

(@)
2216y =2 x 16" +2x 16" =32+ 2 =34

(b)

12C(16) = 1 x 162 + 2 x 16" + 12 x 16° = 256 + 32 + 12 = 300
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7. RDO16EDOBFHI(ASCI 2 — F) 2 LFETRL B Z 0,
4E 45 4D 55 49 21 21

RIS 2 ST O D,

4E | 45 | 4D |55 |49 |21 |21
NITE|M]JU]| T[T ]!

L7h>7TC, NEMUIIl &2, £H, BRFRFLIEID»D £7..




